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28,
(1) 08:57-07:30=1h27min=1.45h
V=s/t=208km/1.45h=144km/h =40m/s
(2)E8 P=w/t 5 w=Pt=4800 X 10°W X 1.45 X 3600s=2.5056 X 10'°)
(3) Hw=Fs  f=F=w/s=2.5056X10%°J/(208.8 X 10°m)=1.2 X 10°N
g : H P=Fv 1§ f=F=P/v=4800X 103W/(40m/s)= 1.2 X 10°N
29,

(1) P1=p xgh=1X103kg/m?X 10N/kg X 0.06m=600P,
(2) F=G=m,g=2.5kg X 10N/kg=25N
P,=F/S=25N/0.04m?=625P,
(3)m 4=2.5kg-1.9kg=0.6kg
V =m 4/ p x=0.6kg/(1.0 X 103kg/m3)=6 X 10*m?
V 5=0.04m2X 0.06m=24 X 10*m?
V 4=V 4-V x=24 X 10*m3-6 X 10“m3=18 X 10*m?>
Fg= P xV u8=1X10%kg/m3X 18 X 10*m3X 10N/kg=18N

30,
(1) 2 1=0.2A Bt
Ur=U-U1=6-3.6=2.4V
F 1=U/R 5 R=Ug/I=2.4V/0.2A=12Q
H1 BRI 1 E=3.2cd (341)
(2) 34 Rp=25QH}, Uo=4V
] 1'=U¢’/Ro=4V/25 Q =0.16A
Ur'=U-Ug' =6V-4V=2V
M| P=UR'I’=2V X 0.16A=0.32W 34
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®DE=2cd R’=20Q
Ur”=1"R’=0.3A X 20 Q =6V
AR 0Q, HFEHEEN 0.

@% R=19Q Ur"=I"R'=0.3AX19Q=5.7V
Uo”=U-Ur"=6V-5.7V=0.3V
Po=Uo”I”=0.3V X 0.3A=0.09W w=P;t=32.4)

@@L R=18Q Ur"=I"R’=0.3AX 18Q=5.4V
Uo”=U-Ur"=0.6V  Po=Uo"I"=0.18W w=Pot=64.8)



